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PART-I

{Questions 1-40)

Directions [Questions 1-4): In each of the
following questions, choose the opbion which best
expresses the meaning of the idiom/phrase
underfined in the sentence.

1. I have hit upon a good plan to get rid of
him.
A, lad B. chanced upon
C. decided . understood
2. He broke off In the middle of the story.
A, falled
B. began crying
C. stopped suddenky
D. felt uneasy
3, He refused to be led by the nose.
A, follow ke an animal
B. be treated as a fool
follow submissively
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Directions (Questions 9-10): In each of the
following questions, out of the four alternabives
choose the one which can be substituted for the
given words/sentence.

a. one who studies about Insects

A. Entologist B. Entomologist
C. Horologlst D. Iconoclast
A person who does not belleve In
Institution of marriage

A. Misogynist B. Altruist

C. Misogamist . Celbate

10. the

+The Info—mst

Directions {Question 11-14): In each of thesa
guestions, choose the opbion that s most nearly
opposite In meaning to the word given in capital
letters.

11. WACILIATION
A, Steeliness B. Intransigence
C. Steadfastness D. Occupation
12. DERELICTIOM
A, Assiduousness  B.  Propriety
C. Uncanniness D. werbosity
13. SANCTIMONIOUS
A, Devout B. Implous
C. Empirical D. Maudiin
4. ENIGMATIC
A, Industrious B. Mysterious
C. Enthuslastic D. Stralghtforward
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20.
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thair weight

C. Prophetic

D. Thriftless
INGRATIATE

A, Infuriate

C. To accept bribe
CLEMENT

A. Lenkent

C. Ruthless
EXPLICATE

A. To apologize

II: Is earth's gravity which

B.
D.

ol

= m (Question 1L5-16): Fll in the blank.

people

glve
glven

nfall thE ants In the world Is

): In each of these

Galn favour
Infuse

Daring
Contented

B. To make something complicated

C. To strengthen
D. To explain
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Ao 2 B. 1

C. % D. None of these

Vanya gave 10% In charty from her salary,
and then 20% from the remaining she
gave to her friend as loan. She Is left now
with ¥ 7200. What s the salary of Vanya?

On what principal will the compound
interest for 3 years at 5% per annum
compounded annually is ¥63.057

A, T400 B. T&00
c. %300 D. T800

A does half as much work as B, and C does
half as much work as A and B together. IF
C alone can finish the work Im 40 days,
then together all will finish the work In

A 13%1:13‘;5 B. 15days

C. 20days B. 30days

A truck cam finlsh a certain journey In 10
hours at a speed of 48 km/h. In order to
cover the same distance in 8 hours, the
speed of the truck must be Increased by

A. & km/h B. 7.5 km/h
C-12 km/h D. 15 km/h
‘!’!ﬂr ratlo of age of Ram and his mother Is

T3 : 11. The difference of their ages 5 24

years. What will be the ratlo of thelr ages
after 3 years?

two towns, P and Q, bowards @ and P
respectively at 8:00 AM. R Is a checkpost
which Is midway between P and Q. Both
Mohit and Rohit turn back towards their
respective starting points whenever they
reach R and every time they reach their
starting points they tum back and return to
R. If the speeds of Mchit and Rohit are 45
km/h and 60 km/h respectively and PQ =
24 km, when will they reach R at the same
time?

A 12000 B. 10000 A, 10 : 24 AM B. 11: 36 AM
C. ¥ 10200 D. ¥ 11000 C. 2:12PMM D. MNone of these
Buts :The Informstion Frowided hete ig ooly Sor Ssbferencs. Dt may wecy the ceigital.
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Five bells begin to toll together and toll 61. are used for performing
respectively at intervals of 6, 7, B, 9 and complex operations at a very high speed?
12 seconds. How many Hmes they will toll A. Micro computers

l:-geﬁther In one I'u:lur".'HI . 8. Minl put

o 5 C. Malnframe computers

Sum of two numbsers 1s 17, whereas sum of £ Buper compuline

thelr squares Is 145. What is the product of ~ 62.  The fundamental purpose of BIOS is

the two numbers? A. to inidalize and text system hardware
A T2 B. 42 components.

C. 82 o 14 B. testing the system performance.

The difference between two positive C. wupdating the system performance.

numbers Is 3. If the sum of thelr squares Is

0. saving the operating systems life.
369, then the sum of the numbers Is e b

63. Al of the following are examples of Input

b ¥ s e
If one-third of one-fourth of a number Is N Pelker s
15, then three-tenth of that number Is C. Scanner D. Mouse

A, 35 B. 36 &4. In MS Word, what Is a gutter margin?
C. 45 D 54 & . == =, = A-_Left Margin

Which ane of the fiollk
least?

29 31 13 17
57"85'38 42
E

8. Right Margin
“C. space left for Writing Notes
0. Space left for Binding
hich of the following is not a type of an

which of the following? C. .m4v D. .amr

A, Web Pages 68. ‘Which of the following elements Is unigue
B. Word Processing for each cell in an Excel worksheet?
E‘ E:WI; sysb A. Flle name B. Cell address
: erating Bms
C. Row headi D. Col headi
The brain of any computer system is s} e eyt
63. ‘When working In an excel worksheset, If
A, ALU B. hard disk = e s
ey e you see #RFFF In 3 column n what ts
wWrong?

which output device Is used for translating

Information from a computer Into pictorial il

form on paper? B. Row is not tall enough.
A. Mouse B. Plotter C. Column Is too wide.
C. Touch panel D. Card punch 0. Both (1) and (2}
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which of the following Is the default body
font In Microsoft Word 20077

A. Cambria

B. Arial

C. Calibri

O. Times New Roman

who Is the current Prime Minister of
Australia?

A. Tony Abbot B. Iulia Giflard

C. Kevin Rudd . Malocom Turnbull
who Is currently the youngest Chief

Minkster of a state In India?

A, Akhllesh Yadev

B. Arvind Kejriwal

€. Mukul Sangama

D. Mone of these

‘which of the following Is not a reclplerlt of

79. who was presented with 24th Saraswatl
Sammaan for his epic "Sri Ramayana
Mahanveshanam™ written In Kannada?

A. M.veerappa Molly
B. Jalram Ramesh
C. Subramanian Swami
D. Manl Shankar Alyyar
80. Which country seat ibs first astronaut

named Andreas Mogensen Im space on 2™
September 20157
A, Belglum B. Benmark
C. Austria D. Poland

81. WName the world's first malarda wvaccine
approved by European Medicines Agency

(EMA)?
A. Malaririe B. Pestguirix
C. Mosguirix D. Fllesguirix

82. which country becomes first developed
nation to default on International Monetary
== Fund debt?

A Spain B. Greece
=, Belglum D. Russia

Anclent clty of Palmyra Is located in which

the United Natlons?
11 February
11 December

Sportsperson Mandeep Jangra who was
recently awarded with Arjuna award Is
connected with which sport?

B. Kabaddi
C. Hockey . volleyball

An Election Commissloner or a Chief
Election Commissioner has tenure of

years In office or bl he or she
attains the age of 65 years, whichever Is
earfler.
A. two

C. five

A. Boxing

B. three
D. six
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Directions (Question B6-B8):
Information below to answer these gquestions.

Study the

seven friends namely Ajay, Deepak, Varun, Amit,
Pritam, Kadir and Jasmeet live In three different
bulldings mamely Ashlana, Top-Hill and Ridge.
Each person s flyling a kite of his cholce with a
different colour ke red, green blue, white, black,
yellow, and pink, not necessarily In that order.
« Kadir Is flying a pink kite and llves in
the same bulding where Jasmest
stays, l.e., "Ashlana’.
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= Varun Is flying a black kite and does o1,
not life In Ridge bullding.
= Amit does not lve In the same bullding
where Ajay or Pritam are living and Is
flying a vellow coloured kite.
= None living in Top-Hill bullding flles a
white kite.
= Only two persons are staying In Ridge
buliding while three of them are
staying in Top-Hill bullding. 9.
= Pritam does not fly a blue kite and
stays In Top-Hill.
Wwhao 1s fiying the "Blue’ kite?
A. Jasmeet B. Pritam
C. Ajay D. Deepak
‘Wwho are staying in Top-Hill bullding?
A. Ajay, Pritam and Deepak 93
B. “arun, Jasmeet and Pritam
C. Ajay, Warun and Pritam e i

Statement :

Some politiclans preach austerity to public
while living In luxury and driving Mercedes.

Conclusions :

I. Al politicians prefer living a luxurious
life.

II. There is a world of difference between
preaching and practicing.

Statement :

Every natural remedy Is not necessarily
harmless and should be used with caution.

Conclusions :

I. The natural remedies
sclentifically proven.

II. Everything natural has no side effect.

Statement :

untll our country achleves economic
equality, political freedom and democracy
wiould be meaningless.

are  not

‘Conclusions :

I. Political freedom and democracy are
poles apart.

A, If conclusion I follows
B. If conclusion 11 follows
C. If naither conclusion I nor II follows
D. If both conclusion I and IT follow

96.
Statement :
There 5 mounting concern that water will
be a flash point for political, social and
economic turmoill.
conclusions :

97.

I. world faces an
shortage of water.

II. The scarclty of water will have serlous
repercussions on our lives.

endemic  global
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=where. Half

r camel’s back

= walking along

r of legs walking

s how _many camels are

there?

A 1D B. 14
cC. 12 0. 16

In a certaln code, 15782 Is written as
XTZAL and 2346 |s writbten as NPSLU. How is
23549 written In that code?

A. NPTUL B. PNTSL
C. NPTSL D. NBTSL

‘which term of the serles 5, 10, 20, 40, .. Is
12807

A, 1oth B. B5th
C. Bth D. Mome of these

cu.It may wmcy the
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The number of boys In a class Is three
times the number of girls. Which one of the
following numbers cannofl represent the
total number of children In the class?

A. 48 B. 44

C. 42 D. 40

From & point, Manveer started walking
towards east and walked 35 m. He then
turned towards his right and walked 20 m
and he agaln turmed right and walked 35
m. Finally be turned to his left and walked

Brte

-

100.

20 m and he reached his destination. Mow,
how far is he from his starting point?

A Z20mM B. 55m

C. 50m D. 40m

Renu remembers that she met her brother
on Saturday, which was after the 2o day
of a particular month. If the 1* day of that
maonth was Tuesday, then on which date
did Renu meet her brother?

A, 250 B. 24

c. 23™ D. Mone of these
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